00 J/)//Jfon =

) ol ) s“ S35y oybiow s 01

1YY olosls y5- |5 nmm—

% 9 4,

 elbogls o )locs ( S9lgils o g ol
PETCRR NP L W FRLIR Y Yoo Sl Sloss
&Pl G oyl G oylods 31 [ Jlgww Slos Sl olgo IR}
a8 VA Yo \ Yo B oludlg by | )
aido e O Y# Yo o | ¥
aiBo Y Yo o) Yo Ol Byleo g K2y | Y
a8 Y. Yoo vs Yo WU L { NP S I




) axbo ((52905) w6 wlusl g (b

¢ ansl Cans 530 05l iz Jilite (glio —)
OBl 0gae)m (ouialy 1allb) = (Zoyme i) = (S 7)) = (Mg 55)2) = (GHlebgd 4kd) = (o5 Cady koD
(3 :ed3) = (LaigS sl g) = (lgs 1 J9050) = Lyl :a¥) = (bt 1oz 926)

Sk (F aw (¥ 9o (V e

Sl oo Wojly plod glime a5 plas 8 —¥

2 S - e 505 - (1S 5w o)Ll 4y 2 e - (3lae saisl ()

o851 sl g - Sy bls - Leys G s oss - 55 elS(Y

oS5 1aSim 5 _ 1 G 1 g — g olKsd _ (g5 pie 1,8l Y

lasls iz :odlilie - w19 = oS 55 15l - 1Some i 0ppa (F

§ ] ouel iy 35 oIS 43 €obie — dudjlro — Wuaio = Wghaw — o pdi» gojly Glizo —F

i = 295 P - o il ade L e (V e = (6,18 pile 320l IS5 - Colge - (g uSilas ()
= (g S o - o8 KD - By (55 e 93 (F Sadle - (6,559l - (2K - St - S (F

Cog o0 oy @al bld aiy 25 i yo —F

309 gyd I3 51 (6 Nlg je cdg 4y g (Jgidu Il plin g JTob Jos 31y Sy g s 3 SOl Oled walyb bl o (Sho s
€TI0y 3l i (K5 51 o Jlmo (B158 109 (Sod Cizma I (sl cani 309 (55le )19 I oF e ko

Sz (F aw (Y 53 (Y S5 ()

fogud (0 oo (Dol ke aiy 35 plus 40 -0

0055 Lo g Jegs aie wdge g wlo p3Y Sl g 505 b5 e siadslew ()

oz b cdb o (2by g oLl ye plasan O b a9 oy (g0 5 IS (Y

bl o il sab s 5l Gralul 5 €13 o pliwgs o pallae 5 cidlye b (Y

elyesols gt Ghasail s ol a8 5 5l Gl g a5 il (> Jlos 2 (F

Sl ool Ll 5935 oo 40 039 Wiz Sdlol —F

Codd Wpad g olyIo 595 gl 9 991 ko plae B JS 53 9 03T (SBU 259 9 9,18 Helmo 9 238 G (r [y Glags Hlpwl slisly (e
€335 Wl b g jlaaly isdo a5 wbly Hlglim 0 p0ls clg (5510 Gl 58 o, Feas 9 (ylalie

Sz (F aw (¥ 90 (Y S5 ()

§ ] 00 (B gm0 ey 23 HUT 31 0y90 dizr (ol wuy -V

(Gl e el = (05 )5 ool ipld Bl b 6)ld) = (ool oo lane mlgl) — (S palidl ol s kinge &150)
(Ligl o1 0 16 5) = (plro (e )Ly 09 ju0) = (Soke 5532 2l s Y L)

ke (F 4w (¥ 9o (¥ < 0

Flam] o 4y 35 plas’ —A

ol oty b olez 0,8 50 a8 Sllgs )b 4 gelan SIS Jels conl S asbiyb; e ()

ol aigi 1) o pi (58 5 Bledase a5 liwg 5l adey a4 cunl GBS ls sasg, (Y

ol @SS Jlos i Jsb 50 g ol a0 1) cpe SBEW; 70 QLS Sgte dlloes (F

3,15 0929 LasyT p1aS € Cumsts grmo CuleS (595 s «£930 31 45 [ Camndti I d3l) Sk y95 4 5595 Fowo AP Caws 30 —4

olae wlul - sl _ e (¥ feali - it - plygl ()

izl - WSl (F LS - L e — o e (T

§ ] w306 T a3 00 0015 Camms (glaaslyT o plas yo Ve

(o )binl LS et Aty )0 330 92 ol Al jo [z o5 plol g2 il 3l aS 50 ()

(Laeets Jelss () 95100 Jl320 50 iy )T o 5l g, a5 /by 5l B ol 5 e s ole E5,8 (V

(ool a5 0l vty ol 455 ol ol 2 ol oy ey S 5 e S (F

(6 ol 3lome) 03 )6 150 ez 520 OF 2 195,62 95y 57 05 s (F



s (o908) ()8 Wladl g oL

o5 ey 351 (201 )BT Gtumnslio oyl g rede (S 13 cligas g aduuil b o LusT p ogdle ;558 G yuo) yw bl gastlaor o 5o 1)
9 S 0« Fino? (50319 Az o 5 A €O (o0 g yR3 ISy 3 LT 50 T g w1 T (6515 1T @ 1y LopmansS g 3480

(3900 030 €S yo — (Blio
@_33_;;‘.1‘::(\‘ J;-p-u‘:;..i‘:(\” 9«3_4..»_&:(\‘ 5‘)_9‘3_;}3&5(\

00,10 31955 Wiy « iy 3T g0 4l ol (oM Ly 9 ooty 329l b gy 3 00l (5 Sl ool ) 3¢ 0> wylue 1Y
Cd g ey (F O 9 S (¥ TR g S (V Mz 9 S ()
£2,18 0929 (SLol g (o9 wul J s i F 4 p oo 53 Y
9 Pl g eloizl Glacais 3 51,8 5 Sinyd ol Goaisd JSiti polic cilid g canl cdo )T slagyleT 9§93 oogle wdo y0.Sin s8>
€8 3lw oo LuisT zalgar 5500 S ¥ Ul Lo ol Sowgw
St - can (F S - s (V St - s (Y G- Cda ()
ol o by (£ (gogud a1 abos s3] e, G40 35 32 4 bady S ploi jo -IF
$ o (o o 9 n 30y S e ol gas Sl 9 Ol ()
$5 Lesl (e LT 5L b jsBe o8 el gl Lo jes Lo (F
ot 5 s | ) 4 90 S0 g ) g e 5 IS e S e o I (F
aiols @3low pb1 (6,88 511m an do 4 wianiS gae jlax 5 (F
failJgrio b (S5 aw galoar S0 (500 pid Cipdo 30 o sWoejly plod 4y 35 plas’ )0 -0
PSS - (A5 - Sz de - i S5 (Y - pans - Apolae - olgzog3 ()
510k - dghis —ely> b - sl e (F G093 = (995 = Leled - mgisgs (F
Sl dawo a1 )45 S35 aw alos 40 35 plas’ —VF
Sl peland] 5:50hes 5 Gl (Gl gl Lo s (SBse ool ey (o)l b 3l 6 i A5 ()
S o Ll B gi pa (S by slaizl Lulyh g 055 gadanil s (S5 L) Lo beasl S (F
el 0392 aeidgi sl aale lar Dygdle 555 50 (B)lols Ll Somgllae 5 Ceelond o JLul (Y
il g e 5 oy Slodld 5,1y 0 )58 4k S S sl 5 5oy (gmiy b i (F
3,105 3 )0 1) (gunmw M (4092 € @iiow Joew? (529 pokdo 43035 plus VY
olone 1 (o ol (ko e (1S S Wil G WS 5o 45 ()
39508 (yamad & yualie Ales dad [ T8 (Gorw (58T Bt 9 365 den (Y
S S0 & 0l )5 Jae /0255 @llas § oo 42,5 Lasa (F
L @by s Slogpew Sl (aod 0> [0S Wl 8 (5 oo v 4 (F
R G35 32 5,18 o3 Lmo s « ol 28 i Y g 2801 @ iy CSLaID Cuas b baasy 35 plod —1A
Sy sl sl [SBILL # b a5 alasly (¥ ol o135 g i 5 Sl sl 2 ylaige ol 51 31 wiles a5 Gl ()
955 Ol Jewil cSlae f955 0Ty (sloys 3 g5 51 (F Sy WS Il (o2 5l a5 [oumgs ol Jole o oSG (F
Tai)1 (o lire ©ogldd ;55050 b oy 90 plas 14
Ol o b o ol 55 i3 4y e [0l o3 4y (00l 092 laal ()
ool Dk sl oo |) 5 &S0l oS> [ Jlg &S L el 35 el
Cawgi Oloyd 5 gy 5 5w 4 [luwss (S oy (39:5] i g )5 (Y
Cwd 4y Cowd 35 o0 Sho 9 Cdgo (S s 4y Gt Clioni a5 (535 Lo
S5 @255 GBIAGS T 5 sl (593 S walgs 51 (¢
G555 |y (S0 g g 57 b 5 B L 655 o o] S 4
S)3 pOye OlaiwsS (92 & p Jol @o b S5 e (F
O 5k 9yl G 418 e @ (5550 SIS



Y axiwo (@9-0-‘) w)lé CJLLU'N 9 ub)

,a@o«@lp,l}ﬁqwqu/@g,@ CS 50 8 500y 9979« Sliwgs g pw d Tl dx s [ Sb peo &S50 JO 50 150> Cam 9 pobio — Ve
Cogib g0 o4y iy 35 plas

S e 45 Dpje sl S Aol a3l 5 08 pree (eyF 4z STO)

S S o wils b Lax (e 5 filo S oS Gl e g 55 51 (Y

65,5 585 5ls Al s o Bhle 92 [ 285 oo Jlog g By Coas den (Y

I ©gemne So92h By 5 je /oo > 5 0 Uiz 5 0 (F

F0g:d o0 bl 50 ey plas 51 « o 4y dliiel ( Sodo il (guiue (5,5 LA Silo;0» pudlin =Y
P35 O o5 €S il pllakes az )T/ Cansgd 9 (ro0 o &3 &5 (hams 5 (5 pgimme (s —

695 935 e 3> 50 5l 12 1595 2 5l (99,70 4 i &

83,5 12 )lgo Lo 45 Lo y9 08 [ailo 93 o2 35 (oS as S -

Ghasd (pads 31 oI & plod 395 | hagd (503 50 hisS Ced 30 & T 0

P19 0T 3 ap 05U gu (lidkas [eigns (Linigd 5 &5 0ugSy T Gules o —

Glogemo o (F Saoso @l o Gl (Y ooz ()
ful Jie p Gaee garlé S0y Con plos pordo - VY

ool S 528 S o i ST 505 332 (Slseo 5255 & 05 ()

oS adoly 90 (97 (Sheaigg;s/ailes Jie )18 calys Bae j9d g2 (V

Cosd 5 WS GHiEE (loges a5 [ oz 5l 555 Jie L (F

sl g Ol jlansle a5 e o)l 199,505 52 S0 & 3o O Jae L (F

00 o bao Joli5 Olol S0 L cog plas -YY

313 5 1y Caed 4505l g 3,8 WLES 13,1 (), Jb 5 sl Sgerme 4z ST adles ()

Ly Ghas® 05 0,00 easSElas /) (fagys e (al 52 )b (F

Ky Ky 290 I ab S 1S s o 298 S e 51T

b 09 S9b 0oaiS8l (b0 92 o) (nl Iad (S50 5 Sy p oSl b als g2 (¥

§ s €S Bd? (S0gS> byl (Sl 4y 35 plus -YF

S anS LUl pi oo 4 /sy oalyen jlas ol cws ()

S Pty Jol j Mo Sy [ el o5 p2 oS alej 5o el (poms (F

2wl 85 3l o8 (bsb a5 o 0T 2 35,8 By syl ((Sio 55 slas (7

ol g o5l el A [l oS S o 58 plog @ (F

Cumnl 5595 &g 35 oIS 51 €255 ol)T argy 99,5 adp 98T /8 )5 plorgl 5 dduozr 45 puad (31 s p3he ~YO
055 5 2b sod jame (S ) §5 /255 5 gailer o2 o SLe STQ)

S g 2 Erz 5 S by g yoe &[Sl 0B g, e (ns 0 e (V

sl Gl el SB oS plial 5 1 Sl ezl o s, 1S a5 a8 (F

28, dalgdu i ed 58 Glaciws 4/l 4 She ol ol s b Cews a5 L (F



(0902) (o2& L)

(FF=¥5) g a1 o il 5] 2z B 5 53N1 5 oW e

015 U Al e G Tl oSG > Y8

sl aals sl wlas 4 Jai 4S5 5 03 S5 1ol Ll sl als 4 e ()

Al il sl K5las e S a0 4S5 S 5 g5 |y 3 s ol el ls e (Y
sl 42l sl Wglas s S A 55 03 SO s |y L5 sal Lals e (Y

sl wals al wylas 4 Jais S5 S el Ll sel uls 4 paa (F

S ol w21 W35l W5 o A Je L Uz G vy

Tams o ol 5SG es AR el S ol ) Lol b w3l 13 ey 6l g5 b Blea (A
Sl g 0L malaS Jas & 0l euloile U ols 513 o1 sl (a5l ol 35 L azsl L (Y
O S P R - S EPU S S S PR P LY PP (5

pmlesls Joe 551 placn e b wslol 3 o5 el o 2 Lo Llan (F

«lome L ol 2l 5 0 e L2 U531 —¥A

oS b e b 4 bl (SO e 51 bl (0

Aol b ) e sl 3 b s (SLU ey s, il (Y

pals e Lo s by (LU oty soslss ol 4 (Y

Aol L Ly e 5sb 4 by (S, ey ool Ul (F

€Al L ) J o 70801 5 2l i o Ll —va

e loddy (G & b U8 e Dpes (285 5 A & ooy ()

e e Sas 4 b S W s s e oS el U (Y

oS s ) Caan s 5 5 45 masad (b plaad basian & e, 1 (Y

peslai 3 1 a8 5 o a8 s sas Ul pleeVls slasun 4 s ok 4 (F
QN e u"*-9 J-W ‘}3}/7 u‘ PR P 1’41» -v.

r...J\S,., Sl a8 e o ode s s sas S S D5 S Dsed KN
wBu S 5l aS S e by S, STy s 8 e 5k s S50 SI(Y
a5 5l a8 s S e 5hes Z5L BT s v e sdes s saey SI(Y

ol 5l b oS was e sae sy s saey Sl s 8 e 5k s 5L SI(F

o stial] 5 il b sl niilion Juaill o Gl T

osmarls adl Gl (Y sl o )7 O
el (G a5 (F a8 s Y o o1

€oS dax g 8 0l 1 Lol e 0l 15 5 b ler -YY

A ) 5 5 A S Ts) (Y A Bl ) a5 o W S T80

A B G 5 I LA ) (F A ) a3 5 LW L 8] (O



(0902) &2 L)

€S i sl 3 ol B 3T e 53 15 555 oy s s Lo o8y —¥Y

g 3L iy pts 5 gty oy 52Ul AL (Y gl 2l Ty s Y el e (A
: : o= 1 ;
U U P JC OO | . T s N (F s L Gl st oIl L Y (Y

(P -9 B e el 3 JEI a0 1 5)

Jib 5 ) DY B35 Y 5 ad S Y V) Jaddl e i ol e ey o o1 03 2l iy 1 B e el BT 5 S Yy
Moo 035 5 Jopuidl G Y A5 el el e U sl 3l 3 5 Atel Sligs i) dinds s o] e slaae W plais s S

ol oo e (1
sladl 355 (F
el o 3 JLea¥I (F

das 5 Uyss oS T (Y

Cos 3l Josld ol W1 el L)

| [ RO (g 2

el s LS (Yl T L (Y bl s sl 3
Gl Sl o 31,40 Uasdl e -10

I G (0 AV e sl Y sl el e JLSYI QY
SRS AN VRO - W 7

il gl ol (¥ 55U, 2l (Y J sl (3

&.... adad Cl;.il\ ST oo @zdl o =YY

lins Jod) o B ol (F (o o) e JUSYI (Y JUASA e o o ()
(FA-YA) il b il s

€zl Je U LWl sl 558 Tzel Sligdy —FA

W 2 sl _ s (Y ol - o L sl (3
Sl - Ll e el (F S es sl sl (v
/ bl iy ) B pl ol @&d Yy 14

Pl g L Ll S ( P [P K R Ve IRV
NSRBI Ve B T L 2l L el S (v
(FY=F+) 35l Jod) 5 Ol,e Yl b il e

L o piSIy —F

s e 5 /Gt - = SA L s ()

LA GV e s 4l Bl / 2 Y1 s — e m Jb B (Y

A WG s e 5 e/ (R o) (35 - oSS e e (F

Yo s 4l Bliae /G5l o b s - o pme - e o (F

sz =¥

Smeall € s Wels 5 b /o handl e - Bz 2 30 5 e = A5G ()

Sl il Wb 5 Jab /o pmn - e 5 s - bliall UL (Y

<<J}A_;J\>> Q_La\é,:):é/rjw;@_;ﬂ_@_gw (¥

S0 el 5 Jelb 5 b /355 - 0 U o Wl s o S e (F



§ axio (s0902) (2= L)

s eIy —FY

Bl 5 e 5 ad) Glas /05l e ptan - e m 23l Wl a0

JYYE g\bw/dﬂ_@_h} s 5 <l b a;J.é.A/J‘.,.Ss/"CA.g-(T

oA LU e s ad) Glias /G5 e~ ke = Gl el (1

5 eSI e 5 ) Blian /3 s 5l o e = ot S o (F

(O —F¥) I 2L e ool S bl e

Ly gidl Ol o) oo —FY

gl 5 Ul sV, JUI L (v Al Jue o o5 ) ()

Sl U] GlsYI e s (F sl U] S U1 L (F

oo ) b Lo e —FF

$1 s Cgagall s ze JI (Y el 5 A2 JL 52 gl ()

Ll asl b bl s L (F L T ol 1L L (¥

i Jpmiadl e —FO

ol pGT LSk skl (Y EPRUNAIH =R

it b o 0 PG 30 s (F S s o 5,25 i Uk (1

st o] 3 Wl e —pp

i) ) L aanl L 0, s | (Y (oldadl LT e, fame  £IW L ()
(oW ) L Il | e b 1Ll oUW L (F (o aball gl L 12T L o3 L LI (v
Lasdl e —FY

) e s e LS Sl (Y D) e s olb sk S Ll ()

) 82 il I, sl (F A B8 B e e G G (Y
ozl b zall s ~FA

oSl i s &l G (Y HUid4a0

(b Lol s U (F Lol a2 W el (v

el J il e ¥4

i 5 e Loy ol 35kl i 1555 (Y ezl sda sualie e Ulay) s Skl (3
/ .; A el YT el 5 B0 cals (F o p il S ) e (T
o) ol B il e -

B el b 5 B el Bl ) LA el (Y 780 S el aml ) L ()
ety il o SU 73 (F B e s L Dl s (v



Y axdo L;oy.wldt)l&og‘.ii.b)é

QT .90 werrannanranns ST gl cils PUS 5O Jool SO colod g ol c.\._o,)éT ................ o2 lply Bl ya wiglas —H)
!

sl b aadly Leldl) SUSI Se W51 Ul - Sialen g o5 — ailanS> ()

s A o IS el Gl Gy JB - len 5 ple - wlalST (Y

b o8 s o IS el Gl L, JB - SlKen g ple - ailesS> (Y

sl b oy Lol Ol Sde W1 Ul - Sanlen 5 ol - 4ilalsT (F

Currrerenrernnes » duloyd oo absly 3] 38 w3 5T 38 1 g ¢ v L] A Cowl 0393 (0] (81 Samio ol poly ool =B

e 4098 s U1 ooy cy0 il Lo g9 = 0S5l 095 ()90 sloatanil g wgd yo 50 1y il s ()

cotogd s U1 gy oo s Lo 5= 0 E30 Wn Ll &y 1, o Gigoss 5 ol s (Y

el S5 ) ol LW lae cyo0s = aisS lo 095 o590 (slaatn il g wd 93 58 1, ol o (¥

e T IS5 ) ol LWl yles s o 0iiS” ED] Lyl Ay 15t g 5 5 sl ol (F

s s odag 098 (olcs sjls 4 wlio Fwly v G (wild g e 3 ST L Lud! —0Y

s ol 0 5L T 51 e 5 Sl (g sailE ol b aS cuslr T b o] SIS 5 ple (saadsy - wilgs os ()

8l gn 55 ool o8l sl (55Kl 5 035 ol Lo sl 1y ST ) el i 3 i se (F

08 Gl et Hludl Solaw 45 Cond g WS oo w0l 3 Lo sl 1) 0, S Sais il ol cads o - wilgs s (F

001 &=l 9 00 w0 (ybeo Guos (gladaly Jlwdawn nrrrnnnnne. 9 0l o0 (69 (Guiams Ll adid Loyl 3o 3l e, (&) Bolo plol ymm b —OF

!

&>y AlalET Gl - 095 o LSS ()

anslr (Jyone o351 (LT (S5 o (92 Foml - eleaple; (F

anslr (Jgons o 3151 (LT (S35 gl (050 Foml - 955 o Ol (F

S92r9 ol 50 Al (ol ol (95T 152 (g ol 3L 18 Loyl gl (20 Sy Wiglas (5D 248 Jlgaw ol 2 ol (Frwly T plos -80
93,10

Sl o 08 Loy et ) ey 5 Lpazg 5L 5 Talsn 1555 136 5 ()

ORIV VCH N VR DO N N < B [ T SR A

Lty o ad) et A ad) 500 Lo Sl e S (Y

o o 408 QL Y J ey e Wl L (F

] ) SOl oy A b OlsT g o yd bojyleor 9 €l 4o 6,5 5wl g oyl pue» —OF

O3 og dsle ded g Cumaly - G183 Sin b adls bl ¢ (S35 ()

ailoj aylie 51 (50,85 Consd 5 LIl = (2 )05 S35 e 53 gy plomadl (¥

wlej wlie 3l 50,56 Cons 5 s piublo S18 Kin 3 odls ol § 536 (7

O3 o9 il an 5 Comalr - (05 S35 e )0 (950 plaeed! (F

S ) w30 €08 tall 08 ) 5 Sl e o dad ol s 5 sl dsms Joosl G o0 gy 2 sl (0,50 iy 3 las —BY
el ez 5o o liage CaaSl b b sy otdl soass ()

Calrdioail sled 3> (o gade o Wiglas gonss i (Y

55 lss sy bl 5 95 walys 3> o 5l ol ke sesn] (7

WS e (i, LBl 5o o sl sl S e (F

el 1 51 S L TIRO Yy [PC R R R 955 30 s Sl 5 g 3 31 (6410585 1 —OA
Tz 83001 alls 53400 oy 518 e = el (Y Tz 83001 alls 53400 g 018 e = b ymo ()

osada Y Ll Sy tesell 5 A ) 5 55all iy - e (F oz Y Ll STy e sall 5 A ) 55l by - celbol (7



A axio L;oy.wldt)l&og‘.ii&)é

Sl u.“ Al e N )U M && 9 é)‘é )LJ 6)&‘&5 9 als ‘5L»é$‘ )JL») b U),M ‘éy)MU)J ‘JMMJ [ TP M S y0 ,_gl.ful -04

L al Jols Copae ) 59,0 oage ) 00lgils coges Co e 0 e - ailsgel oas ()

Jyals J2ls o pae oy g 9,0 eage il eolgils cagec Cu i 00 - 0olgls o 5l Sl g Zo o (Y
Sl ) soses p g BB JB Zu e paie 00lgilS (gegec Zy pae - 0olgils o> 5l (Sl g o e (F
Al by gonges p g Al 2 Gy pae  pdde oolgls agas Co pae - Al el Lous (F

39 o0d Dgamo 081gilS 33 8 yo 5lb Wik 1 Y goro (i pluS =F+

o2 b o] e alal (Y a5 g0l oas (A
03lgils > 5l Lol 5 e (F S8 slals el (¥
el Llosz | g 3 (GlAig0d connrirrrnnnns 098 CuldS pw 9 99 o0 (s 3l oLF @ wole ) salo o g0 b -#)
(&) i - oS @ CaS3l pae el = 43S 1 (Slawis (7 (8) 992 - (el Boi> Gl — o0 (s0ud o Gsi> (e ()
(&) 398 - LS 4y ZaS 3l poe p el = 0350 (S0 LS Fsi> (e (F (&) i - I B9am Ol 2 - 4038 1 Slewts (F
[ Y — Sy yle oy A CCamwliad (S 395 4 9 Jiwn 992 g0 i g «ld g g0 Jldl ol ammo MWl &1 g S B —£Y
TOUW] [ KVESY
Sl Il (F P S13 - Jusly S-S0
s a5 Wilgd oo Ay il 0929 jo SBg &S S b —FY

A8 oo e las 5l et 095 8l jo Dlglxe a5 S jeal (V0,50 1) 05 4 dddle (s> jige g dudo dlwg g 13l 4 aBe ()

$00 )5 03 dliun p bt plus N5 o oW el L il o gady oo gl a3 amgi b -$F

il coded @ 1) 055 slaolasivel wilgs oo a5 sl laz ok 9 ooy $il l 4y slazel b lusl ()

WS o g |y Sl e ied )T sl slaols 4 28g g cnl o g (gaiey 5B slyg el a3 g Lad (Y

Al oo Wglas ool Jsbo yo ludl ool s ol Ll LSl glie )l padi 9 CwSs> (P

2,5 ol ol HI5 o olitil a8 el SLgSS 5 Ladl> gl lea aS aisy co Gl 4 1) lealsl ) (F

Sl 1 a3 4 € § buzmo (b HLiS Lo o 155 g (b @by g €O yalgar g (s GOLS g 1a)gis Sl 6T wylér —#

Ll s gl jo . 9.
VIS o5l 055 - iy el o alols il (¥ VIS o5l 055 - ol gopay 45 ()
bl Sl St gaiee o - (8 g S G alold BT el calse I S A (saiee e - slesital oy b (Y
095 L, cplaS e Aol 3 po (G0UCS gl 1yl 8 o0 digS |y Sod g s a4 Sl y8 oly o g0 (&) @l plol —£F
A oSS gl
S Bl ok Ggzen 5 GLIL; L (Y S5 5ked W 2l b oSl gl LA LY
S 9 5ked B (2lu)l b g il b (F iS85 lee (ol wiile S b b 4 Ll (F
B-IS I 61y Gl Wiglas & yu8 aALis med 4 0, Lol Ll 5 bl SNl 5 o Y1 5 olsled! gls 3 o saulaasg b —FY
28100y 33L0 08 g4ms 1y Loyl 50 59 3 A e o0 9 B ylown] gty p3T 38 9 i oo J
Ay = gl ol 4 — lese (Y Aol go - Wiglaz ol 4y laes > ()
ido il oo olle o S o liege (F A yay - dle o Sae - laes > (Y
310 o0 A%l v Sl 1y 5T (&) She @ pas g wiS oo ol 5. oy 311y 095 sladis 3o oMl Ganal —FA
Sl o ez - slasl (¥ Shobl ol - oz ()
bzl g, - olle - o (F olazil g, - ols; - gl (¥
R T G lw 50 (lodsd I (g S plil g JMo HI5 g oS oy 9 Casal (54148 0 colzlg b v -4
Aglaz gool,l sass (Y el Jos (B0l (O

S5l st g B yre 4 ol (F Sedges IS 5 A (Y



q axdo @M'd)b&,&.@)ﬁ

RESW B o5 ol g ol eifonnds Blic g olxs Lais 4y jgole (o1 50 3 it U erT 8 o T Sl (gbodali 5o a5 eyl 51—V
Ob) os 4 oolgils ()l oS (¥ a3l Gt b5 4 dighas e ()

03lgls (glS 0 ye (Sly @Sowe ailgsy (o (F OU5 G995 2 O3 2 S i S g (F

83)5 (50 GHRD corrrennrenen 31 o Cubwy 5 oLy (3158 gady oo LT a5 azgi b -V

O g2 55 ke (F wo b 518 (F Odeed jp0 50 (¥ ollss jea> (1

Sl Sl 6,18 ol pogs ol 4l aaled gl b (g Hlebl 9 (S5 (Slo S 1) Tas ule 8 o0 45 () Gobo plol 5w ()l potdo -V
Sl ol 4T oA 50 (] 395 Cgurro @abro jliiwgd 1335 (88 55 oo ke lbl gy cyusian]y Ol g

Al sl U ) e (SOLAY Y

A G szl gl )y B LS g ol 55 e el n s (Y

e ot Al (S (S 5 A (S gnsl Bl S ol 8 (F

g o5 S e sa sl e Ul ol oS 58 ) e oSl e 5 (F

ptie IS €IS sl US s ke dil o I8 Btamy OlSns 2 b B (35l 60 St 0 o S il sl o g4k pib sl I VY
?M Slaimo

)10 50 1 T il el St iy (o> (oS 4 dalys oz ST()

S S5 gl 5 0l S gonge iy 893 Sl es 52 9,0 50 Ll (Y

D5 gl gile Ailg el S s 1 ] (S 4 dnlgSn las ST (Y
sy oo A 4y ] Bla N 5 oIS S el Wiglas 4y slazel 5 U5 L (F

BUCT UV G » & cblo e e jo -V¥
@.ﬂ\éh&b\é&bé&f)@-&fg_é}ﬁﬁ d.\]\éh&;\éﬁb&&r'ﬁu_ow_w@(\

Ol @S ey Al ol (Sle M - gl 5 0 (F ol @S Ly Lzl sl (Se oo 1 - a3 (Y

S plas ;S0 e i 4 «liadl Slsal (Sle 2O o oo 51508 Lle s m LU 9 < 31 5 8 Ly ey pld¥) Ly clylee Bl oo -V
! Wl Gl

Eon - Seld ol S (F Saldocald_g (VW gip-gin-celB (Y Celd-gip-50 O



Ve amio (5o90€) (oSS! (3

Part A: Grammar and Vocabulary
Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see four words or

phrases, marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence.

Then mark vonr answer sheet.

76- The manager asked me...................

1) how much | expected to be paid 2) how much did | expect to pay

3) how much | expected to pay 4) how much | expected to be paying

77 e all the shirts looked beautiful, she couldn’t decide which to choose.

1) While 2) Since 3) Whether 4) Whereas

78- Four people were injured in the bank robbery yesterday ........... two policemen.

1) who include 2) included 3) including 4) was including

79- The engineer has ............... useful information in the office that he can run the computer.

1) sucha 2) such 3) so 4) enough

80- My brother had a terrible time catching the bird. He .......... the door of the cage open.

1) mustn’t leave 2) shouldn’t have left 3) shouldn’t leave 4) mustn’t have left

81- We have been........... that a decision will not be made before the end of the week.

1) improved 2) generalized 3) instructed 4) developed

82- Air and land pollution will surely end in the ........... of so many animals and plants.

1) extinction 2) situation 3) attention 4) relationship

83- The money collected by charity will be used to ............ the school with new computer system.
1) protect 2) provide 3) prevent 4) predict

84- The doctor ............ inside my son’s inner ear without finding anything wrong.

1) probed 2) recorded 3) discovered 4) compared

85- She was awarded a prize because of her efforts on the ............... of Iranian rug and carpet in European markets.
1) observation 2) function 3) promotion 4) mission

86- Many ............. are being done to show the effect of playing computer games on children’s behavior.
1) observations 2) organizations 3) experiences 4) experiments

87- When | asked him for some money, he ................ an excuse for not giving it to me.

1) invited 2) insisted 3) involved 4) invented

Part B: Cloze Test Directions: Questions 88-91 are related to the following passage. Read the passage

and decide which choice (1), (2), (3), or (4) best fits each space. Then mark your answer sheet.

Perhaps most people have the ....... 88.... of forgetting. They’re unaware of a simple but important fact: Memory can
be improved. Research will showyou ...... 89.... . First, relax. If you’re over worried about remembering something,
you’ll forget it. And avoid being negative. If you keep telling yourself that your memory is bad, your mind will come
to believe it and you won’t remember things. When you forget something, do not care very much, because it will

have negative effect on you and your memory. To remember more, you’ll need to take an/a ........ 90.... role. Your
memory can be .....91..... through exercise. Look for opportunities to exercise your memory.

88- 1) experiment 2) experience 3) balance 4) reflection

89- 1) why 2) what 3) how 4) who

90- 1) brief 2) artificial 3) active 4) public

91- 1) strengthened <2) released 3) decreased 4) summarized

Part C: Reading Comprehension
Directions: In this part of the test, you will read two passages. The passages are followed by some questions.

Answer the questions by choosing the best choice (1), (2),(3), or (4). Then mark your answer sheet.

PASSAGE 1:

When you intend to deliver a lecture, make sure that your appearance is well presented. Try to speak clearly, and
adjust your voice so that everyone can hear you. Don’t shout because you want to be loud.
It is common to speak rapidly when you are nervous, try to take your time while speaking.
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Effectively pauses in your speech can be used to emphasize a point, or to allow the audience to react to a fact, a story
or even a joke you have just presented.

Make eye contact with your audience. This helps to build trust and a relationship between the speaker and the
listeners.

Do not make nervous gestures with your hands.

Do not keep your hands in your pockets. Use hand gestures effectively.

By yourself, allow your own personality to come across in your speech.

92- The writer intends to provide us with some information about ..........

1) amusing the audience  2)making a speech  3) telling a joke 4) reading a paper
93- Which one is not mentioned in the passage?
1) The lecturer should be too loud to hear 2) The speaker must speak clearly

3) The appearance of the speaker is important 4) The speaker’s adjusted voice is heard better.
94- “Take your time” in line 3 means .........

1) you shouldn’t delay 2) you must be polite and calm

3) you shouldn’t kill the time 4) you shouldn’t be in hurry

95- Which sentence is correct ?

1) Pauses could be helpful, if they are used regularly.

2) The lecturer is not allowed to tell jokes in his speech.

3) The audience are not allowed to react to the things presented.

4)By using a lot of gestures and pauses the speaker can build trust.

PASSAGE 2:

The economic and social changes of the past few decades have changed the European finally. What was once normal
— two parents, father employed, mother at home, and stable financial situation — is now exceptional. Today, half of
all marriages end in failure, and about half of all children spend several years in a single — parent family. Some
mothers never marry again, some parents lose husband or wife through death and some single women and men
adopt children. It means that they decide to raise other people’s children. Single mothers are greater in number than
single fathers.

A single- parent family in at a great risk for such negative outcomes as decline in income, poverty and behavioral
problems. Most single parents find it difficult to meet all the financial duties. A decrease in income may require them
to move the family to a less expensive home in a different neighborhood, transfer the children from one school to
another, and spend less money on goods.

While the pressures on the single- parent family are great, problems do not always occur. If a single mother can
manage the different tasks of taking care of her children and herself, her family can not only survive but also advance
a lot.

96- What is paragraph 1 mainly about?

1) The problems of today’s children.

2) How to help single — parent families

3) Recent economic and social changes in Europe

4) The change in the structure of the European family.

97- According to the passage, in the past a normal European family had.........

1) so many children. 2) no financial problems

3) people to take care of the children 4) a father at work

98- All of the following are given in the passage as reasons why there are single — parent families EXCEPT...............

1) increasing poverty 2) a father or mother dying

3) they’re never marrying again 4) a single man adopting a child

99- The word “ them” in line 9 refers to ...........

1) duties 2) problems 3) single parents 4) negative out comes

100- According to the passage, a single- parent may transfer his or her child from one school to another when............
1) they move to another home 2) they have financial problems

3) they want to be close to shops 4) their children do not do well at school.





